








5

Pipe holder assembly

Jet body 
assembly

Check valve
Strainer

Pipe band (5 pcs)Socket(B)

Socket(C)

Hex nut M8 (3 pcs)

Hexbolt M8 x 30 (2 pcs)
Bolt M8 x 50 (1 pc)

Washer M8 D16 (5 pcs)
Pipeholder (2 pcs)

Pressure
 ange
Packing

Venturi

Jet assembly

Screen

Sealing

Spring dock

Check valve

Strainer

Free  ang
Packing

Adapter

Socket(2")

Suction pipe(1")

Sub- ang
O-ring

How to prime it 
•   After installation on the rst run, open the hopper cap and pour in some water. 

 HOPPER CAP 
•   Do not expose the electric components such as motor, electronic parts, etc. to water. 

   
•   For new pump, water must be lled into the suction pipe, compression pipe, and 

pump head and securely close the hopper cap. , 

•   Open the water tap at the supply side. 
•    Install the pressure gauge at the hopper cap. 
•   Close the control valve fully by turning it clockwise, and connect the power cord to 

turn on the pump. 
•   After the water ows into the pump, adjust the control valve by releasing the adjusting 

screw.   Adjusting screw
•   After closing the water tap, check all conditions by opening or closing other water taps. 

If there is a noise, adjust the adjusting screw by turning it 1-2 times. , 
  Adjusting screw 1-2 

   
MODEL : DT-P300GX

Single Jet 

Parallel Jet 

Hopper cap

• Remove the paper inside the cover after  nishing installaiton. 

Adjusting screw 

Adjustment of Control Valve  
Pressure gauge 

Adjusting Pressure
100kPa (1.0kgf / cm2)

Hopper cap

Pressure port

Pressure tank 

Inlet (Suction) 
 ( )

Outlet 

Power cord

Air charger 

Control valve

Pump head 

•  Modi cation pressure switch may cause 
 malfunction of machine and pump parts 
 damage. The warranty will be terminated  
 instantly if you modify pressure switch.
  
  
   
 

How to Prime it

PART NAMES AND STRUCTURE

3PPL095404.indd   5 07/29/14   4:52 PM





7

Suction lift ( ) 12-18 m (12~18 ) 

Well diameter ( ) 2 inches (50 mm) (2  (50 ))

Suction pipe’s size ( ) 1 1/4 inches (35 mm) (1 1/4  (35 ))

Pressure pipe’s size ( ) 1 inch (25 mm) (1  (25 ))

Discharge pipe’s size ( ) 1 inch (25 mm) (1  (25 ))

How to install 
1.  Prepare all parts to install such as 1-inch PVC pipes, and joints (refer to the speci ed depth in the manual).   

 1   ( )
2.  Expand the end of the provided 1-inch PVC pipe (suction pipe) about 50 mm by holding it over the  re as shown in the  gure of step 1. 

 1  (Suction pipe)   50   1
3.  Install the expanded end of the PVC pipe to the venturi of the single jet. Install the end of PVC pipe so that it is over the venturi about 10 mm  

as shown in the gure of step 2. Then, cover the connection point with a damp cloth and bend the pipe’s end onto the venturi as shown in the  
gure of step 3.   (Venturi)   10   

 (Venturi)  2   (Venturi)  3
4.  Apply the silicone to protect the water leakage. Then, check for leakage at the silicone-applied point by pouring the water into the  

pipe.   
5.  Connect the 1-inch PVC pipe to the single jet as shown in the  gure of step 3. Securely attach them with adhesive to avoid leakage. Then, 

insert the completed single jet into the well in depth steps as speci ed in the manual.  1  
 3 ( )  , 

6.   Turn the pipe’s end of the single jet (clockwise) until the sealing is against with the wall of the 2-inche well as shown in the  gure of step 4. 
 ( )  (Sealing)  2   4  

7.   Connect the 1 1/4-inch PVC pipe to the adapter.  1 1/4   (Adapter)
8.  Connect the 1 1/4-inch reducer to the pipe’s end of the single jet as shown in the  gure of step 5.  1 1/4 

  5
9.   Install the  ange set to the pump and connect them to the adapter (indicated in the circle) as shown in the  gure of step 6. 

 Adapter ( )  6
10.   After nishing installation, refer to How to Prime it (page 5).   (  5)

**  If you cannot install it yourself, please consult the authorized personnel or your dealer. 

**  All joints must be glued to avoid water leakage; otherwise, the pump is unable to suck up the water.  

   How to 
install the single jet

 ** For the single jet installation, install it to the well with diameter of 2 inches 
(50 mm). Perform the installation as follows:  ( Single jet )

 2   50  

PVC pipe at the 
pressure side: 1 inch 
(  
1 )

PVC pipe at the 
suction side: 1 1/4 
inches (

 1 1/4 )

Adapter ( )
2-inch socket 
(  2 )
1 1/4-inch reducer
(  1 1/4 - 1 ) 
1-inch PVC pipe
(  1 ) 
Well diameter: 2 inches
(  2 ) 

Hopper cap ( )1-inch PVC pipe 
(  1 ) 

Expanded point 50 mm.
(  50 .)

Venturi ( ) 

Single Jet ( ) 

Well diameter (2-inch PVC pipe)
(  (  2 )) 

Below the water level 
about 2-3 m.
(

 2-3 ) 

Water level
( )

1-inch joint 
(  1 )

1-inch PVC 
pipe (

 1 )

1-inch PVC pipe
(  1 )

Turn clockwise
( ) 

Apply silicone
( ) 

 10 mm. (10 .)~~

 Sealing ( )
2-inch well 
(  2 ) 

Figure of step 1
(  1)

Figure of step 2
(  2)

Figure of step 4
(  4)

Figure of step 5
(  5)

Figure of step 6
(  6)

Figure of step 3
(  3)

Flange of the 1-inch pressure 
pipe (

 1 )

Adjusting screw
( )

Flange of the 1 1/4-inch suction 
pipe (  
1 1/4 )

How to install the single jet

 (SJ)

3PPL095404.indd   7 07/29/14   4:52 PM



8

Hopper cap ( )
Control valve’s adjusting screw 
( )

Flange at the 1-inch pressure pipe
(  1 )

Flange at the 1 1/4 inch suction pipe 
(  1 1/4 )

Pipe holder ( )

Pipe band ( )

PVC pipe at the 
pressure side: 1 inch 
(  1 )

Depth of water level: 
18-30 m (

 18 ~ 30 )

Strainer ( )

Well diameter: 4 inches (100 mm) 
or more (  4  (100 

.) )

Secure the band at every 5 m.
(  5 )

Depth from the water 
level: 1.5-2.0 m, Parallel jet 
(  1.5 ~2.0   
(Parallel Jet))

pipe at the suction side: 1 1/4 inches 
(  1 1/4 )

How to install 
1.  Prepare all parts to install such as 1-inch PVC pipes, 1 1/4-inch PVC pipes, and joints (refer to the speci ed depth in the manual).  

  1 , 1 1/4    ( )
2.  Connect the provided parallel jet to the 1-inch PVC pipe and the 1 1/4-inch PVC pipe at the suction side and pressure side of the jet respectively  

as shown in the  gure of step 1.  (Parallel Jet)  1  ,1 1/4   
  1

3.  Connect the PVC pipes at the suction side and pressure side at the depth speci ed in the manual.   

4.  Secure the PVC pipes at the suction side and pressure side together with the pipe band at every 5 m as shown in the  gure of step 2.  
 (Pipe band)   5    2

5.  Secure the PVC pipes at the suction side and pressure side with the pipe holder at the well’s edge as shown in the  gure of step 2.  
 (Pipe holder)    2

6.  Place the pump to locate the position for installing the ange at the suction side and pressure side as shown in the gure of step 2.  
  2

7.  After nishing installation, refer to How to Prime it (page 5).   (  5)

**   All joints must be glued to avoid water leakage; otherwise, the pump is unable to suck up the water.  

**   If you cannot install it yourself, please consult the authorized personnel or your dealer.  

Pipe size at pressure side: 
1 inch (

 1 )
Pipe size at suction 
side: 1 1/4 inches (

 1 1/4 )

Parallel Jet 
( )

Figure of step 1
(  1)

Figure of step 2
(  2)

** For the  parallel jet installation, install it to the well with diameter of 4 
inches (100 mm) or more. Perform the installation as follows: 

 (Parallel Jet)  4   100  
 

How to install the parallel jet

 (PJ)

    How to 
install the parallel jet
   

Suction lift ( ) 18-30 m (18~30 ) 

Well diameter ( ) 4 inches (100 mm) (4  (100 ))

Suction pipe’s size ( ) 1 1/4 inches (35 mm) (1 1/4  (35 ))

Pressure pipe’s size ( ) 1 inch (25 mm) (1  (25 ))

Discharge pipe’s size ( ) 1 inch (25 mm) (1  (25 ))

3PPL095404.indd   8 07/29/14   4:52 PM







11

3PPL095404.indd   11 07/29/14   4:52 PM




